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EVO  - Unit 39 

 Drinks
I. Name as many kinds of drinks as possible – both alcoholic and soft.
II. What is the difference between:

1. Lager and bitter

2. Stout and cider

3. Sider and scrumpy

III. Complete the sentences. The first letter will help you.

1. Beer is b………………………… in breweries from hops.

2. Whisky is mostly made in Scotland in d………………………………..
3. Whisky is a spirit made from b………………………………………..

4. Water which runs through p…………………………….. gives the whisky a darker colour.
IV. Which word doesn´t collocate with the following kinds of drinks?

1. Fruit
pineapple
fizzy


juice
2. Dry
soft
full-cream


milk

3. Non-alcoholic

still
sparkling
water

4. Draught
herbal

green

tea

5. Sweet

rosé
weak


wine

6. Instant

full-cream
real

coffee

V. Match the words below with the drinks.
A half of
a bottle of
a glass of 
a pint of

1. ………………………. red wine

2. …………………….. bitter

3. ……………………… lager

4. ……………………… Becks

1. Translate.

2. Dej tu zátku zpět do láhve.

3. Raději bych si už žádné víno nedával. Točí se mi hlava.

4. Nikdy nepiju alkohol, když jsem autem.  Zůstávám věrný minerálce.

5. Vodka mi leze do hlavy.
6. Mohl bys mi nalít další sklenici vína?

7. Otevřeš další lahev vína, prosím?

EVO  - Unit 39 

 Drinks

Teacher´s sheet
I. Name as many kinds of drinks as possible – both alcoholic and soft. Students´own answers
II. What is the difference between:

1. Lager and bitter

lager is a light-coloured beer/ bitter is a darker beer 
2. Stout and cider

stout is a a very dark beer/ cider is made of apples 
3. cider and scrumpy

cider is the same word for scrumpy
III. Complete the sentences. The first letter will help you.

1. Beer is brewed in breweries from hops.

2. Whisky is mostly made in Scotland in distilleries.

3. Whisky is a spirit made from barely.
4. Water which runs through peat gives the whisky a darker colour.

IV. Which word doesn´t collocate with the following kinds of drinks?

1. Fruit
pineapple
fizzy


juice

fizzy
2. Dry
soft
full-cream


milk

soft
3. Non-alcoholic

still
sparkling
water

non-alcoholic
4. Draught
herbal

green

tea

draught


5. Sweet

rosé
weak


wine

weak
6. Instant

full-cream
real

coffee

full-cream
V. Match the words below with the drinks

A half of
a bottle of
a glass of 
a pint of

1. A glass of red wine

2. A pint of  bitter

3. A half of  lager

4. A bottle of  Becks

VI. Translate.

1. Put the cork back in the bottle. 



2. I´d better not have any more of this wine. I´m feeling a bit light-headed.
3. I never drink alcohol if I´ve got the car. I always stick to mineral water.
4. Vodka goes straight to my head.
5. Could you pour me another glass of wine, please?
6. Will you open another bottle of wine, please?
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